Chapter 2 – Section 2.5–2.8 – Even Answers
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Section 2.5

Class Exercises

1. 
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5. none

6. 2 (multiplicity 2 or

a ‘repeated’ root)

7. no x-intercepts

(0,4) y-intercept

axis of symmetry: x = 1

V(1,1)
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8. x-intercepts
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y-intercept (0,3)

axis of symmetry: x = 
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9. x-intercepts

(0,0) & (6,0)

y-intercept (0,0)

axis of symmetry: x = 3

V(3,144)
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Section 2.5 – 2.8 Even Answers
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40. Using y = -16t2 + 16t + 32
y in feet and t in seconds to 

model an object being thrown 

vertically (at 16ft/s) into the 

air from a height of 32 ft. 

What is the maximum height?

Answer: 36 ft when t = ½ sec.

41. If -4ac = 0, one real root
      If -4ac < 0, zero real roots

      If -4ac > 0, two real roots

42. 
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46. 10 cm

47. Did you know you can use

your TI-83 or TI-84 to graph 

a whole family of curves?

Just enter in the 
[image: image14.wmf]y

=

 menu:

Y1 = x2 + {-1,0,1,2}x and it 

Graphs four of these puppies!
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48. (-3.5,0), (-1.5,0), (.5,0), 

      (2.5,0), (4.5,0)
Challenge 2.5
  y2 – 3y – 3 

Section 2.6

Class Exercises

1. 0 (multiplicity 2)

   -3 (multiplicity 2)

2. 
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Section 2.7

Practice Exercises

2. m1 = -3, m2 = 2

4. QR = PR = 
[image: image20.wmf]40


5. Let A(0,0), B(2a,0)

C(2b,2c). Then midpts

of 
[image: image21.wmf]&

ACBC

are (b,c) 

and 
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 with a slope 

of zero as it is for 
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.

6. (see #5 above) 

M1M2 = 
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and AB = 2
[image: image25.wmf]a

, QED
8. Let A(0,0),B(2a,0)

C(2b,2d), D(2c,2d)

then the midpoints are:

M1(b,d) & M2(a+c,d)

slope of 
[image: image26.wmf]12

MM

= 0
hence parallel, QED

9. Add k to the 

x-coordinates and 

add p to the 
y-coordinates.
10. Try using (-a,0),

(a,0),(-b,c),(b,c) for the

vertices.
12. see #8, use

(0,0),(2a,0),(2b,2d),

(2c,2d) 

13. Use (0,0),(a,0),
(0,b),(a,b) to get a 

diagonal of 
[image: image27.wmf]22
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14. For a parallelogram
use (0,0),(2a,0),(2b,2d)

and (2a+2b,2d)

16. 50ft

17. Since x = –b/2a is the

axis of symmetry, P is the

vertex of the parabola.

18. isosceles

20. no change
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Section 2.8 (continued)
18. 605 ft
19. Using Ax + By + C = 0
20. 2x + 3y = 0, 3.05

22. B=0 in the denominator!
24. 
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27. 0 slope & undefined
28. 63.67 ft2
29. A field is a set of elements
and two binary operations with

closure, associative, distributive,

and commutative properties. 

There is an identity element and 

(except for 0) each element has 

an inverse.
30. difference of y-values
32.  .125x – y + 3.98 = 0
34. The rock could be hitting 
the sides of the deep well. A 

terminal velocity may have 

been reached on such a long 

drop. 
36. 
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38. 7.87, 0.13
40. 2x – y – 7 = 0 or 
      2x – y – 1 = 0

41. 1.15
42. You’re kidding???
43. 
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Test Yourself 2.8
1. x-intercepts (none)
y-intercept (0, -3)

axis: x = 2/3, V 
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10. x-intercepts 


� EMBED Equation.DSMT4  ���& (2,0)


y-intercept (0,20)


axis: x = � EMBED Equation.DSMT4  ���


V � EMBED Equation.DSMT4  ���


  �


11. $ of revenue R  


with x = price $


R(x) = x � EMBED Equation.DSMT4  ���(riders)


Tricky!  riders = � EMBED Equation.DSMT4  ���


R(x) = 20000x + 20000(1.15x – x2)


  = –20000x2 +


            43000x


�


Price = $1.08  maximizes revenue 


R(1.075) = $23,112.50





Section 2.5


Practice Exercises


2. x-intercepts � EMBED Equation.DSMT4  ���


y-intercept (0,3) V(0,3)


     �





4. x-intercepts 


 (-5,0) & (1,0)


y-intercept (0,-5)


V(-2,-9) axis: x = -2


   �


6. x-intercepts 


(1,0) & � EMBED Equation.DSMT4  ���


y-intercept (0,-1)


V� EMBED Equation.DSMT4  ��� 


axis: x =� EMBED Equation.DSMT4  ���


 �


8. -1, 1.5


10. Reflect the left side about the axis.


12. (0,c)


14. � EMBED Equation.DSMT4  ���


 �


16. � EMBED Equation.DSMT4  ���


�








18. � EMBED Equation.DSMT4  ���


       �


20. (625,1084)


22. R(x) = -.40x2 + 


   4.56x + 56.70


    �


24. � EMBED Equation.DSMT4  ���


     �


26. If y � EMBED Equation.DSMT4  ���0, then the graph can’t intersect the x-axis.


28. If a > 0, then k < 0


      If a < 0, then k > 0


30. y = (x+3)2 + 1


32. � EMBED Equation.DSMT4  ���


34. � EMBED Equation.DSMT4  ���


36. � EMBED Equation.DSMT4  ���


    �


38. max y = 19 ft


   �





5. � EMBED Equation.DSMT4  ���


6. 0 (mult. 4)


    � EMBED Equation.DSMT4  ���


7. 3


8. 0 (mult. 3), 2


9. a2 + b2 = ?


= (a + bi)(a – bi)





Section 2.6


Practice Exercises


2. 0 (mult. 3),5,7


4. 0,4/5, 3/2


6. 12, � EMBED Equation.DSMT4  ���


8. 4


10.  1.9, 2.3


12.a < 0 decreasing


  a > 0 increasing, 


b shifts the curve up or down


14. In either case above (#12), the cubic crosses the x-axis exactly once.


16. If we can’t factor a 5th degree or higher polynomial equation, we can still graph it for approximate solutions, but we won’t be able to find the complex ones with our calculator.


17. � EMBED Equation.DSMT4  ���


    no change


18. 2, -8, � EMBED Equation.DSMT4  ���


20. multiply


(x+3)(x+2)(x–7)


22. � EMBED Equation.DSMT4  ���





24. 0(mult. 3),9


26. 2


28. 0 (mult. 3),


    � EMBED Equation.DSMT4  ���


30. 3,2,� EMBED Equation.DSMT4  ���


32. Factor out the GCF, and then hope to have a polynomial of the form:


ax2n + bxn + c 


34. -5.7, 1.7, 3, � EMBED Equation.DSMT4  ���


35. yes, but…


you may not divide by zero, so notice that you may lose a root, namely -5.


36. 9� EMBED Equation.DSMT4  ���9� EMBED Equation.DSMT4  ���9 ft


37. What is the side of a cube if 5 such cubes have a volume of 135 cubic units?


Answer: s = 3


38. � EMBED Equation.DSMT4  ��� 


40. � EMBED Equation.DSMT4  ���


42. � EMBED Equation.DSMT4  ���


     � EMBED Equation.DSMT4  ���


44. � EMBED Equation.DSMT4  ���


46. Solving the polynomial gives: x = 0, -4


However, both make the denominators zero in the original problem.











Review 2.6


1. x = 5


2. y = -2x – 8 


3. y = x + 2


4. W = 9 in. 


    L = 29 in.


5. 65


6. no


7. no


8. � EMBED Equation.DSMT4  ���


9. � EMBED Equation.DSMT4  ���


10. � EMBED Equation.DSMT4  ���


11. � EMBED Equation.DSMT4  ���





Section 2.7


Class Exercises


1. yes


2. sides = 5


3. Use the quadratic formula to find x1 & x2 and then find their midpoint. This will equal the axis of symmetry or x-coordinate of the vertex, � EMBED Equation.DSMT4  ���.


4. sides are all |a| and slopes are negative reciprocals


5. show opposite sides are equal or…


6. show negative reciprocal slopes for (0,0),(a,0),(0,a),(a,a)


7. Let A(2a,0), B(0,2b), C(0,0) then the midpt will be simply (a,b) and the distances are all � EMBED Equation.DSMT4  ���


8. (-2,-1)





22. Use A(0,0),


B(2a,0),C(2b,2c)


Consider medians from A & B to midpoints (a+b,c)


& (b,c).


�


Set the median lengths equal…


� EMBED Equation.DSMT4  ���� EMBED Equation.DSMT4  ���


and we get a = 2b.


Now consider side lengths, AC & BC


You’ll find them equal when you substitute 2b for a.


23. Use (0,0), (a,0),( b,c),(a+b,c)


24. Use (0,0), (2a,0),(2b,2c) 


26. � EMBED Equation.DSMT4  ��� and 


    � EMBED Equation.DSMT4  ���


27. Show AB=CD, AD=CB


28. no


29. � EMBED Equation.DSMT4  ��� and 


      � EMBED Equation.DSMT4  ���


30. yes


32. Yes, show


� EMBED Equation.DSMT4  ���� EMBED Equation.DSMT4  ���


 for both


33. False, he was trying to state the Pythagorean Theorem


34. � EMBED Equation.DSMT4  ���














35. Find the point 2/3 of the way from each and show that they’re the same point.


36. Since a right triangle inscribed has its hypotenuse as a diameter, use the pts (0,0),(2a,0),(2b,0) to get a center or midpt of (a,b) and a radius of � EMBED Equation.DSMT4  ���, then


� EMBED Equation.DSMT4  ���


37. (6x2 , 0)


38. Here’s a drawing for you! I used y = 1


and y = -x2 + 5.


 �


Let (x,y) be the upper right vertex, then 


P = 4x + 2(y-b) or 


P = 4x + 2(c-ax2-b)


P = -2ax2 +4x +2c-2b


With a vertex or maximum P at � EMBED Equation.DSMT4  ���


maxP = � EMBED Equation.DSMT4  ���





Challenge 2.7


1. {{� EMBED Equation.DSMT4  ���}},  {� EMBED Equation.DSMT4  ���},  


     {{� EMBED Equation.DSMT4  ���},� EMBED Equation.DSMT4  ���}, � EMBED Equation.DSMT4  ���


2. 6


3. 16


4. I and II


5. 1/12


6. 1





7. 6.25 in.


8. � EMBED Equation.DSMT4  ���


9. 41


10. � EMBED Equation.DSMT4  ���


11. (0,0), (2,2)


12. 2


13. � EMBED Equation.DSMT4  ���


14. � EMBED Equation.DSMT4  ���





Section 2.8


Class Exercises


1. 3x – y + 2 = 0, 2.21


2. x – 3 = 0, 2


3. .02x – .12y – .07 = 0


     2.71


4. x – 3y + 12 = 0, 5.06


5. 3x + 8y – 26 = 0, 1.87


6.  6.26


7. 36x – 10y – 34 = 0, 


      6.42


8. 7x – 8y + 18 = 0, 3.48





Section 2.8


Practice Exercises


2. x = 0, 5 


4. 2x – 3y + 3 = 0, 2.5


6. x + 2y + 10 = 0, 1.34


8. 0.83


10. |x1 – h| or |h – x1|


12. 5.01


14. 1


16. Between the lines: 3.29 inches. From one buttonhole to a stich line: 1.65 inches.


17. Each diagonal is the hypotenuse of an isosceles rt triangle with legs, a. Hence, each hypotenuse has a length of � EMBED Equation.DSMT4  ���.





2. � EMBED Equation.DSMT4  ���


�


3. � EMBED Equation.DSMT4  ���


  �


4. 7, -4, 0 (mult. 2)


5.  1.10, 0.79


6. 0, � EMBED Equation.DSMT4  ���


7. yes


8. 1.12





Chapter 2


Summary & Review


2. x = 2


4. even


6.     �


8. �


10. 2x + 5y = 14


12. 4, - ½ 


14. 1 and 2 sec.


16. x-intercepts (1/3,0) (-2,0)


y-intercept (0,-2)


axis: x = � EMBED Equation.DSMT4  ���, 


V� EMBED Equation.DSMT4  ���


  �





18. � EMBED Equation.DSMT4  ���


 �


20. 0, 8, -6


22. � EMBED Equation.DSMT4  ���


24. Section 2.7 #8


26. 0.28





Chapter 2 Test


1. y-axis


2. y-axis


3. even


4. neither


5. �


6. � 


7. �


8. �


9. �


10. 6x – 4y – 15 = 0


11. g(t) = 8t + 40


12. -2/3, 3


13. � EMBED Equation.DSMT4  ���


14. 256 ft


15. x-intercept (no)


y-intercept (0,2)


axis: x = � EMBED Equation.DSMT4  ���,V � EMBED Equation.DSMT4  ���


  �





16. x-intercept (no)


y-intercept (0,-5)


axis: x = � EMBED Equation.DSMT4  ���


V� EMBED Equation.DSMT4  ���


 �


17. � EMBED Equation.DSMT4  ���


18. � EMBED Equation.DSMT4  ���


19. 0, 4/3, -7


20. 4, � EMBED Equation.DSMT4  ���


21. Use (0,0), (2a,0),(2b,2c), 


(2b+2a,2c)


22. 6.4





Challenge


With real coefficients, complex #’s are in conjugate pairs.





Cumulative Review


1. -7/2, 3/4


2. 9/4    


3. yes


4. (-4,5) 


5. y = (x - 3)2 – 6 


6. 6.04


7. y = x2


8. horizontal


9. (1/2,0)


10. 2x + 3y = -9


11. 5.83


12. � EMBED Equation.DSMT4  ���


13. x=2, V(2,56)


14. -5,3,0(mult. 3)


15. odd


16. out of room!


17. x2 – 2x + 5= 0


18. always


19. always


20. never


21. always


22. always
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